
FITTING INSTRUCTIONS
TO BE FITTED BY A QUALIFIED TECHNICIAN

Bullet Frame Slider: Left hand side - RACE
Part No. FS-R9-2025-LHS-R

1 	 Remove left hand fairing.

2	 Remove upper engine mounting bolt.

3 	� Assemble bolt through the aluminium bush into correct position.

4 	 Tighten to 45NM torque.

5 	 Slide bullet moulding onto aluminium bush.

6 	 Screw M6 bolt through moulding hand tight.

7	 Refit fairing.

The left hand frame slider sits behind the fairing.

You need to cut your race fairing.

Bullet Frame Slider: Right hand side - RACE
Part No. FS-R9-2025-RHS-R

DO NOT use these products unless you agree to our Terms & Conditions, as shown on our paperwork and website. If you do not agree, please return the product(s) to your dealer for a refund.

www.GBRacing.eu

Replacement Bullet Moulded Part 

Part No. CPM-3

SET: Bullet Frame Slider Set: FS-R9-2025-R
•	 Bullet Frame Slider: Left hand side - RACE Part No. FS-R9-2025-LHS-R   

•	 Bullet Frame Slider: Right hand side - RACE Part No. FS-R9-2025-RHS-R

M10x1.25x55

M10x1.25x55

CPB-10-40

CPB-10-15

CPM-3

CPM-3

M6x10A2CSK

M6x10A2CSK

1 	 Remove right hand fairing.

2	 Remove upper engine mounting bolt.

3 	� Assemble bolt through the aluminium bush into correct position.

4 	 Tighten to 45NM torque.

5 	 Slide bullet moulding onto aluminium bush.

6 	 Screw M6 bolt through moulding hand tight.

7	 Cut appropriate size hole in fairing as pictured.

8	 Refit fairing.


